
chapter 4158

Example 4.1 (cont)
For the linear regression model in Table 4.18, we make two plots: one of the

residuals (Figure 4.2) and one of Cook’s D (Figure 4.3). We observe no pat-

tern of residuals, and the greatest value of Cook’s D is about 0.12. There is

thus no evidence of lack-of-fit, and no single observation has an undue

influence on the model.

Figure 4.2 Scatter plot of standardized residuals against standardized predicted
(fitted) values for the model in Table 4.18, n = 189.

Figure 4.3 Scatter plot of Cook’s D against standardized predicted (fitted) values
for the model in Table 4.18, n = 189.
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